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June — Examination 2023

B.Sc. (Part I) Examination

BIOTECHNOLOGY
(Developmental Biology and Biostatistics)
Paper : BT-03

Time : 3 Hours | [ Maximum Marks : 35

Note .— The question paper is divided into three Sections
A, B and C. Write answers as per the given
instructions.
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Section-A 7x1=7
(Very Short Answer Type Questions)

Note .— Answer all questions. As per the nature of the
question delimit your answer in one word, one
sentence or maximum up to 30 words. Each

question carries 1 mark.
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What is Organogenesis ?

s o o ¥ ?

What is Nebenkern ?
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Define Pseudo fertilization.

Bgd Treem w1 gt sifSa

How will you define Invagination ?
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What is Inductor ? Give example.
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(vi) Hox gene are regulated by .............. .

(vii) How was ‘Dolly’ sheep obtained ?
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Section-B 4x3%=14
(Short Answer Type Questions)

Note -— Answer any four questions. Each answer should not
exceed 200 words. Each question carries

3%, marks.
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. Throw light on History of Embryology.
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. Write notes on the following :

(1) Acrosome

(i) Polarity in eggs
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. Explain the following :

(i) Polyspemy

(i1) Fertilizin-antifertilizin Reaction
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(i) wiemsfm-urdwiiansfcm fwen
. Define cleavage. Explain its pecularities.

fadiem =+t gftarn s qon fadew +F w2 fowommei
T T HIfST)

. Enumerate formation of skin from Ectoderm.
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. Describe pattern formation.
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. Throw light on Induced breeding.
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. Explain Ovule development and megasporogenesis.
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Section—C 2x7=14
(Long Answer Type Questions)

Note .— Answer any two questions. You have to delimit
your each answer maximum up to 500 words.

Each question carries 7 marks.
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10. Explain monocot embroy development in detail.
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11. Write a note on Graphical representation of

Statisticsl Data.
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12. What are the limitations of Measures of Central

Tendency ? Elaborate.
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13. Find out the mode of the following data :
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20, 21, 23, 24, 20, 22, 20, 22, 24, 25.
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